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Aarebpa 7-9 raacc

POpMyABI COKpPALIEHHOTO YMHOXeHHS (PCY):

CpaBHeHHE:
1)3u 7 2)3V5 u 543 KsazpaTHble (@a-b)(a+b)=a®-b? (@b’ =a’?+2ab+b?
JO>\7 = 3>y7 o5 u 253 HOPHH a’-b?=(a-b)a+b)  a?+2ab+b’=(atb)
J45 <75 = 3J5<543
9) (243 —/5)(2V3 +/5)=(2V3)? -(\/5)*=4-3-5=7

CAOXeHHe H BbIYHTAaHHE:

3)VI1+11+11=3\11
4) JB -7 +33+8\7 =4/3+6\7

YMHOXXeHHe H AeAeHHe (CBOHCTBA):

S5)Ja-Ja=(NayP=a, a>0 J6-V6=6 (J6)*>=6
6)Va?=la]  |(3-+10)*=[3-410|=+10-3

7)Jab=vaJh  \20=EF5=A5=25

Jab-yab  4/3-T6J3-\T63-a8
8) a_va 4_V4_2
b b 9 o 3
Ja_la 48 _ [48 _ gp_
Jp \b 3 3 V16=4

1 23 4 5 6 7 8 9 10 11
1 4 9 16 25 36 49 64 81 100 121

10) (5-26)?=52-2-5-2{6+(2\/6)> =25-20/6+4 -6 =
=49-20.6
(W) =2% _ (Wx-2)(x+2) _
ll)fz (Wx-2) (Vx-2) V2
10) @=2V5a+5_(aP-2Ja-V5+(\/57
a-> Way -5y
_ Wa-v5P _Ja-5
Wa-5)Na+J5) Ja+\5
HppanHOHAABHOCTH B 3HaAMEHAaTEA€:
13) 2 2 _ 0.3 _2J3
B BB 3
141 T 1(4) _ 4+ _a+)5_4+5
4-5  (4-5)4+5) 4°-(57 16-5 11

18 19 20
400

12 13 14 15 16 17
144 169 196 225 256 289 324 361
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